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1.1 SolRie] 7[E 24 - 7|HE

1.2 7|99

e T A HEE Pythone dAAl HAQ 7191 = (keywords) & &of B7] 913E 9

>>> mport keyword

Holel 1 Aol

>>> keyword.kwl ist

['False', 'None', 'True', 'and', 'as', 'assert', 'async', 'await', 'break', 'class',
if', 'else', 'except', 'finally', 'for',
I |

‘continue', 'def', 'del', ‘el
‘from', 'global', "if', "import', 'in', 'is'
or', 'pass', 'raise', 'return', 'try',

1S,

"lambda', 'nonlocal', 'not'
'while', 'with', 'yield']
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: if True:
if True: o print(Answer’)
| print(‘True’) print('True’)
€ISe. else:
print(False’) print(Answer’)
print('False’)
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« Python? W& =2 /38 &2} (new line) & &t}
e Python & 914 f-#}(line continuation character) (\) & A} £38}o] & A E3o] th5 &34 AAdHo] o= A
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total = item_one + \
item_two + \

item_ three
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days = ['Monday', 'Tuesday', 'Wednesday',

'Thursday', 'Friday']
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« Python 314 7]& 1 A # oA F9 e W&

# First comment

print "Hello, Python!" # second comment

- AHgA 4 )

s U W@ =S 3 ZFZES FASL, ARSAE AIE & FE T 74|t 7] e

#!/usr/bin/python

input ("\n\nPress the enter any key to exit.")
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« TS 2T

« A 24 A E g vk

« At (letters), <A, 181l |

A501 & (2) Y AALAL(=) A elolE)

O

s} Y

o L

<A (underscores) & T4 %

o

+ Python el AHg-5)%= o] okol o) eto]vefe] o] o m
F ol FoR AT % glut.
cWEHe B2 s gH.
+ Pythonel A W52 AL4-3 o) M58S Abde] Alsh o
o
Q]@rﬁi =] Coﬂ}q 7]-}(]- u]—x]uloi §}U40ﬂ b]—E]—ﬂ- }—8‘ ‘Eﬂ—)f*
_of| AAFE

>>>a=3 #AF AT 35 AFE W ad g AR
>>>b=4 #AFT AT 4E AT HE bl Y (A
>>> a+b #W a9t W bl AR LS gl =5
7

>>> d=2.5 #de A7 AFEHEE A+ Haoloh

>>>a+d  #AF AFTF AAEE Aol
5.5

>>> Utte] = 22 #ot2 = Wo] F 4 gl

>>> o] #A 5 Yool A g =4
22

>>> _+10  #_ol= vtE Ao &) AE o] .
32




1.3 o) A5H

>>> c=complex(5,4)

5 = . - e - } >>> ¢
- 7§53 (integer), 217§ 5% (long integer: W R 2|7} 3]sk o 54|32 A} -
S +
QR PSS e 5 oo, (5+43)
s T, Hard, 2ALY, FUAETAY, ErE ol Utk S

(0.89655172413793105-0.24137931034482757 )

>>> c.real

« A] 2~ (sequence) AFE Y >>> a=3+4j

w2 5.0

s Y AE 777 br2tsJ >>> c.imag

« 7% (tuple) >>> asb 4.0

« A4 3 (dictionary) (-14+23j) >>> abs(3+4j)
>>> a+b 5.0
(6+9j) >>> (345j) .real
>>> 1+j 3.0

>>> (3+45j) .ima
Traceback (most recent call last 2 &

5.0
File "<stdin>", line 1, in <mo
>>> z.conjugate()

(1-13)

>>>

NameError: name ig not defin
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e name= ‘Gilldong Hong’

>>> 'spam eggd’ #AE A

'spam eggd'
>>> 'doesn\'t’ e ]
"doesn’ t”

>>> "yes", he said’ #EAAE B4

"yes", he said'

>>> hello="This is \ #TAL (&) = A&st= AL A
... rather long string containing several lines. °
>>> print (hello)

"This is rather long string containing several lines.
>>> hello #print (hello) 2} -t}

"This is rather long string containing several lines.'
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e 4.1 AAk
cTAE AH + T HAY «, EXF R
npx)uk xRz -1
eslicing : TAFE 9] L H
s HEE Ve shAIRE R

4
>>> word #E AW A E =9
'HappyDay'

>>> <'+word+">’ #EAE o7
'<HappyDay>'

>>> '<'+word*2+">’ #TAD HA4 9 AH

' <HappyDayHappyDay> '
>>> word[0] #EAAWHT word?) Qg A 0 HA TAFZ
|H7
>>> word[1] #EAAWHT wordd] 1HA EAE=
o

>>> word[0:3]
lHapl

>>> word = 'Happy' +'Day’ #TAE2 -5 w43 HSF wordol A%

#word?d 0F¥ 38 7}%] ¢ BEEX4Y (slicing)

index 0 123456 7
wordHappyDay

reverse index -8 -7 -6 -5 -4 -3 -2 -1

>>> word
'HappyDay’
>>> word[0:3]
'Hap'

>>> word[:3]

#EAE ASHE 3 E2Y slicing

#word[0:3] ¥} 722

'Hap'
>>> word[—1] ] D I T e

'y

>>> word[—3:—1] #H oA 3SHAFE 1HA A7FA] scling
Da'

>>> word[—3:] #5 oA 3HAFE w2714 slicing
Day'

>>> word[0] =X’ #EAEH o AR A O S &5

Traceback (most recent call last):

File "<stdin>", line 1, in <module>
TypeError: 'str' object does not support item assignment
>>>
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sjoin : Y| AEQ
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esplit ! LAFE = 8] 5to] &
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229

*str

Oié

STL, =1 )

>>> ;' join(['abc','123",'xyz','789" 1) #¥ A~ E T2 AFs
"abc;1235xyz, 789

>>> 'abc;123;xyz;789 ' .split( 57 )
Lle2gia=

['abc', '123', 'xyz', '789']

>>> str(99) #7845 TALE W&
199

>>>str([1,2,3,'a" ,'b" ,'c’ D) #HU2E AT
'1,2,3,'a, b, 1"

# A (str) = A4 & AR

2Ad2 W

w, N

>>> a=5 # 4 5t

>>> str(a==5) # =] A d A E FAE True’ = ¥HgE
"True'

>>> str(a==1) # =2lAdd s XY ‘False’ = HESE
'False'

>>> '"Today is '+'Stepember '+str(3)+', '+str(2019)
'"Today is Stepember 3, 2019’
>>> "join([1,"abc',2,'edf’ 1) #join A+ 4o 3l A
Traceback (most recent call last):

File "<stdin>", line 1, in <module>
TypeError: sequence item O: expected str instance, int found
>>>
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